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1. a3 =(1,2,3),a2 = (3,6,7);

2. a1 =(2,-3,1),a2 = (3,—-1,5),a3 = (1,4, 3);

3. a1 =(4,-5,2,6),as = (2,-2,1,3),a3 = (6,—3,3,9),a4 = (4,—1,5,6);

4. a1 =(1,0,0,2,5),a2 = (0,1,0,3,4),a3 = (0,0,1,4,7), a4 = (2,-3,4,11,12).
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A B = (by,bo, b)), C = (c1,¢2, -+ ,Cn) HRAATEIEL.
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1. {(1,-1,1,0)7,(1,1,0,1)7,(2,0,1,1)7};
2. {(1,-1,1,-1,1)7,(1,1,0,0,3)7,(3,1,1,—1,7)7}.
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1. S =span{(1,2,0,1),(1,1,1,0)},T7 = span{(1,0,1,0), (1,3,0,1)};

2. S =span{(1,1,1,1),(1,-1,1,-1),(1,3,1,3)},
T = span{(1,2,0,2),(1,2,1,2),(3,1,3,1)}.
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T noxn FEE X = (24)1<ii<n, T GET A
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